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M FOIYIHEOCR (R ) (LB TTHY /L)
Sl A (c9: & e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
ol & o 650,514 581,789 68,725
FOHFHCD(HEDH) (LSS T /UBAF) 307,434 263,709 43,725
HAFE Q22 220,659 178,259 42,400
HAR2Y 2 X2 45,500 24,100 21,400
202 04l 1,400 0 1,400
01 2ol 1,400 0 1,400
OYge2e WNZ ¥ ZHUAE =L
100,0002 * 14 1,400 0 1,400
401 AlEHI 2 =200 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OEHAMRA AL =8 Ul S AL
20,000,000 20,000 0 20,000
s el 31,523 10,523 21,000
405 KHAHE EH| 21,000 0 21,000
01 RML2SEFEY 21,000 0 21,000
OZHIZRY 21,000,000 *1CH 21,000 0 21,000
Ol gt & & =H| X2 85,775 84,450 1,325
Olgt& &=H X 85,775 84,450 1,325
301 LBt A2 85,775 84,450 1,325
05 E& - 0% . BtEs=gAZ 85,775 84,450 1,325
OO0l &g 83,300 82,000 1,300
sy 2 61,000,000 61,000 60,000 1,000
= A= 10,200,000 10,200 10,000 200
-5| o E A At 2 12,100,000 12,100 12,000 100
OEHE AN 2 AR 2,475,000¢ 2,475 2,450 25
FOICIIAMES U AFDO Y (HESH) (L2 /Lt 263,382 238,382 25,000
S Sh
zs2e 82,750 77,750 5,000
IH2E X 2 B2 82,750 77,750 5,000
401 AlEHIZ =20 19,750 14,750 5,000
01 Al&HI 19,750 14,750 5,000
OJ}zsexzaldl A 50,0008 x790S *50% 19,750 14,750 5,000
Zol=SAAY F=Z 71,320 51,320 20,000
ZOIME SEHAAMY 71,320 51,320 20,000
401 AlZHIZ 2| 70,000 50,000 20,000
01 Al&HI 40,000 30,000 10,000
OS2 ME0A SEHMNAAS
A= 40,000,000 40,000 30,000 10,000
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